Position Description Art. No.
Countersunk screw M4x8.... Until serial no.
190310 use Countersunk screw M4x10, art. No.
C1 2505 11511
Power-adjuster, outer, Dreamline Classic, Until
C2 serial no. 190310 use art. No. 20052 20127
C3 O-ring 11.1x1.6 NBR90O 19081
c4 Safety knob 11200
C5 Safety lever 32,5mm 19860
Ccé6 Safety pivot Bullpup 20056
C7 Cub point grub screw M3x8 19742
C8 Screw coned 4,2x9,5 11006
Cc9 Triggerguard HW98 15008
C10 Countersunk screw M5x35 4525
Ci1 Stock Dreamline Valnut 19880
C12 Sheet metal screw 4,2x16 11622
Use X-parts if you have Stock with opening for
X power adjuster with house. For art. no. see

drawing F10057 (parts pos. no. 23, 24, 25, 26, 69)

Cl1l1

Stock withopening
for power adjuster

MATERIAL:

DRAWN

4

NAME

DATE

CHANGE DATE

REVISION

3

2

TITLE:

Dreamline Classic

DWG NO.

F10062

SCALE:1:3

2

ARTNO.

ART NO.

SHEET 1 OF 1

|



	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4


